

1)  $\int_0^{\pi/10} \sin x dx = \left[ -\frac{\cos x}{1} \right]_0^{\pi/10} = -\frac{1}{1}(\cos \frac{\pi}{10} - \cos 0) = -\frac{1}{1}(\cos \frac{\pi}{10} - 1) = \frac{1}{1}(1 - \cos \frac{\pi}{10})$   
 $\int \frac{1}{t} dt = \ln|t| + C$   
 $\int \cos x dx = \sin x + C$   
 $\int \frac{1}{\sqrt{x}} dx = 2\sqrt{x} + C$

2)  $y'' + y' = e^x \Rightarrow \frac{d}{dx}(e^x y) = e^{2x} \Rightarrow e^x y = \int e^{2x} dx = \frac{1}{2} e^{2x} + C$   
 $y = \frac{1}{2} e^x + C e^{-x}$   
 $y(0) = 1 = \frac{1}{2} + C \Rightarrow C = \frac{1}{2}$   
 $y = \frac{1}{2} e^x + \frac{1}{2} e^{-x}$

3)  $y'' + y' = 0 \Rightarrow y' = C_1 e^{-x} \Rightarrow y = C_2 + C_1(1 - e^{-x})$   
 $y(0) = 1 \Rightarrow C_2 + C_1 = 1$   
 $y(1) = 2 \Rightarrow C_2 + C_1(1 - e^{-1}) = 2$   
 $C_1 = \frac{1}{1 - e^{-1}}, C_2 = \frac{e^{-1}}{1 - e^{-1}}$

4)  $\lim_{x \rightarrow 0} \frac{\cos x - e^{x^2}}{x^2} = \lim_{x \rightarrow 0} \frac{-\sin x - 2xe^{x^2}}{2x} = \lim_{x \rightarrow 0} \frac{-1 - 2e^{x^2}}{2} = -\frac{3}{2}$

5)  $\int \frac{3x+1}{x^2+x+2} dx = \int \frac{3x+1}{(x+1)^2+1} dx = \int \frac{3(t-1)+1}{t^2+1} dt = \int \frac{3t-2}{t^2+1} dt = \frac{3}{2} \ln|t^2+1| - 2 \arctan t + C$

6)  $f(x) = \frac{3x^2}{(x-1)(x+4)}$   $D_f = \mathbb{R} \setminus \{-2, 1\}$   
 $f'(x) = \frac{6x(x^2+x-2) - 3x^2(2x+1)}{(x-1)^2(x+4)^2} = \frac{3x^2-12x}{(x-1)^2(x+4)^2}$   

x	-2	0	1	4
f'	+	+	-	+
f	+	+	-	+

7)  $f'(x) = 5x^2 - 5 = 5(x^2 - 1) = 5(x-1)(x+1)$   

x	-1	1
f'	+	-
f	+	-

$f$  has a maximum at  $x=0$  and a minimum at  $x=1/3$ .  
 over  $x \geq 0$  the largest possible interval with  $x \geq 0$  where  $f(x) \geq 1$

8)  $V(x_0) = \text{Rotationsvolumen} = \int_{-1}^{x_0} \frac{1}{4} \left( \frac{\sqrt{1-x_0^2}}{x+1} \right)^2 dx$   
 $= \frac{1}{4} \int_{-1}^{x_0} \frac{1-x_0^2}{(x+1)^2} dx = \frac{1-x_0^2}{4} \left[ -\frac{1}{x+1} \right]_{-1}^{x_0} = \frac{1-x_0^2}{4} \left( \frac{1}{x_0+1} - \frac{1}{0} \right)$   
 $V'(x_0) = \frac{dV}{dx_0} = \frac{1}{4} (3x_0^2 + 2x_0 - 1) = \frac{1}{4} (x_0+1)(3x_0-1)$   
 $V'(1/3) = \frac{1}{4} (1/3+1)(3 \cdot 1/3 - 1) = \frac{1}{4} (4/3)(0) = 0$   
 $V(1/3) = \frac{1}{4} \left( \frac{1-(1/3)^2}{(1/3+1)^2} \right) = \frac{1}{4} \left( \frac{8/9}{16/9} \right) = \frac{1}{4} \cdot \frac{1}{2} = \frac{1}{8}$

8) Se  $x$  zwischen  $306$  e  $308$